@ 0.75km? @ 100 m x 4000 cm
@)s0000a @ 25ha

® 100m x 3000 cm

~&B

T 22 @2 A A By}
@D 0.75km? = 75ha
@ 100m x 4000 cm = 4000 m? = 0.4 ha
@ 80000a = 800 ha
@ 25 ha
® 100 m x 3000 cm = 3000m? = 0.3ha
B>0>0D>20>0




2. = SollA wel7h 7t

ol
ru
pos
flo
2
|r
vl
o
i
N
pv)

@® 0.02km? @ 0.2ha (3)2000a

@ 20000 m? ® 2ha

B

T e 92 1A A vlus) FYrh
@D 0.02km? = 2ha

® 2000a = 20 ha

@ 20000 m? = 200a = 2ha
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4.1)16.7
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D 41x4+3=16.7 ® 41x3+4=16.7
@4.1x4+0.3: 16.7 @ 41x340.03=16.7

® 41x04+03=16.7

U 2= 0.3 Yyt
oebA 16.7 +4.1=4---0.3 | B &
ghe AATAL 41 x4+ 0.3 = 16.7 YUt




2oyl 3.2ha 9] =0l A & 5.6t & AT, WIFHlE 4.5ha
4 —‘mﬂ/ﬂ & 7920 ke 2 AASFALSUTH 1a & AAEES o] o)
2 kg ¢ §5U7?

®© 72, 1kg @ 72, 0.1kg ® ¥4t 0.01kg

@ "4F, 1kg @‘?J'Fh 0.1kg

B ~
7Aooy 1a F AA4=F : 3.2ha = 320a,

5.6t = 5600kg = 5600 + 320 = 17.5( kg)

A 1a T RBAEEF @ 45ha = 450a,

7920 + 450 = 17.6( kg)

wrakA] 97y 7} 1a T AJALEFO]

17.6 —17.5 = 0.1(kg) & @5t
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(540 4 620 +[ |+ 450) + 4 = 470
1610 4 J=470x 4

1610 + [ |= 1880

[ J=270(=te1)




® 60+2.5 @ 48+1.5 ® 8.64+0.48

@ 144 +9.6 ® 26+3.25

D 60 +2.5=600=+25=24
@ 48+15=48+15=32
3 8.64 +0.48 = 864 - 48 = 18
@ 144 + 9.6 = 1440 ~ 96 = 15
® 26 + 3.25 = 2600 ~ 325 = 8
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® 20.3+29 @ 3.44-0.43 ® 17.29+1.9
@2.754 +0.27 ® 20+25

B

D203+29=203+29=7
©®344+043=344+-43=8
®17.29+1.9=1729+19=9.1
@ 2.754 + 0.27 = 275.4 + 27 = 10.2
®20+25=200+25=38




8. 20.64 2 ojH 47 o] B2 44 S Aa7tA] et gy Bo)
4.78 ©]al, Y27} 0.004 o] 5 Ut) ojE S Adnpolx] 254
Q.

®s58 @2 ® 624 @ 65 ® 6.64

ol 52 [ ot 5
29.64 +[ |=4.78---0.004
[ ]=(29.64 —0.004) + 4.78 = 29.636 + 4.78 = 6.2
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@® 3.458 + A = 2.66 @ 67.44 + A =56.2
@38.34 +A =426 @ 25568 + A =T7.52

® 575+A=125

Pl 27h 1 Rt on B2 oAl Srrt AU
wtEbA] 3 38.34 ~ A = 42.6 9|4 42.6 > 38.34 ©| B2 A 9] Fre
1 8o} 25y
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@ 5% o2l @ 5% <=3}
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27} 1 20000 4 20000 X 0.2 = 24000 (¥)
FQIZ} 1 24000 — 24000 x 0.2 = 19200 (¢)
20000 — 19200 = 800 (Y1) 2] &5

800

O] A
50000 % 100 = 4( %) ] +3f
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